*

1/0;do/dg

ey

= =
o o
N w

=
o

IIII|IIII|||||II| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIIII_H

10

107°

[EEY

Ratio to DO

0.5

Z (Dre

1 ©
()]
10O

Jo

ppbar

*

(pn(ll) (electron channel, 1 < |3£| < 2)

m DO
—A— Pythia 6.428 370
--H-- Pythia 6.428 391

Pythia 6.428 default
—— Pythia 8.308 default

lI-Yan)

IIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIIII_

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


